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��� 681.5 

����. 8.8. �������, 8.�. ������
�

����. ��
. ���. �.6. ��
��

 (
������ �������
���

 ���
������������ ��������� 
 ���
�������


, 	� �) 

4��5�����	 9�2���;
�/�� ��02���� � 1������
�
��/�0� 1���2	 ���
�

(������% �
#��� 
����
���"��� ����'����������% ���
�
���



���#�� ���'��� ����*��
� ����*��
! �
#��� / ������. ,'���� ����-

�!�� ������&
� �����'� �
�"����

: ����� ��
�����
!; ��������!

�
�"����
!; 
�����!�
����% �����; ��#���������! �
�"����
!; ���
-

��%��! �
�"����
!. ��� ��
 ������ �������� �� 
����"�����

 ����
-

�
% � ���%����� �������#� �
#���� 
 �����. $��#��, ��
 �'��'��
�

������� ��
���
��! ��*��" ������� �'����+��
! �������#� �
#����.  

(�
 ��������

 ������� �
����
������ �� ����
�� 
���'��
%

���
������
���
�% ����� ������
���"��� ��������
 '��
 �'�������-

�� �
�
�% ������
���"����"� ����
���#� ����'���������!. �#��+
��-

�
� 
����
���"��� ������� ��������� ������
�" ��

� �'�����, ���-

'� ��
�
���"�� ������
�" ����� �
#���� 
 
���" �����+����" ����-

���
�" ������� 
���'��
%. .���� ���
��
���
�#� �������#� �
#����


���� ���������% ����
���, ���������!! ��'�% ����" ����-����, ���#-


� ���
��%��� #�����
���

� �
#�����. (� ���% ��
�
�� '�� ��'���

����� ��
��"��% �����
�
���

 ��! ��������
! �������� �#��+
��-

�
!. 

,������% ���"� �����'��

 ������ '��� ������
�" ������
��-

�

� ���������

 �� 
������
� ������� �����
� �����
���� � ����-

&"� ����
�� 
����%����% �����. 6 ��
+� ������
�" ��
������ �����-

�
���

� ���������������
 � ��
!�
�� ���!+��
! ����� �� ��'�����-

��� ������� 
���'��
%. 

,������� 
��������� ������ ��
 �
����
�����: 

�����%����! ����� � *
�
��% ��
����� 620 ��, 
���� ���+���-

�� ������������� ����
��� � �
����% 
 ���"��% ������

�
�������� ��! 
������! ���!+��
! � ������"��% ���
�
��% � 2 

����.  

����

 ������&��
! – �������% 
����
���"��% ����

, �
���-

��� 
������
% 300��.  

����&�! 
������
�
! 
����"�������" ��! ��
���
! +���
���



������
�

, '��� ������������ ������
���

�
 �����
���
 ���&
-

��% 10 �� 
 ��
������� 
 *������� '�����
. 

����

 
��� ����� 4-20 �6 
 '�� ��#��+�� ������
����
�� 150 

,�. ��! �

���

 
������
% '�� 
����"����� �
�����% ���
���#���

� �����+����"� ���
�
 ������ �� hardware 
���"�����. (���� �����-
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���
! �
����
������ ���������� ������ 
������
�����
�" � ��
��

�������
���
�% �'��'��

 Matlab. 

(��� �
����
����� ��
������! � ������&��. ��! �������
! ��-

�
��
���
�#� �����%���
! �� ����� �����-����
��� '�� ���
����� 


���������� ��
����. �� ��� ����
���� ��
����!�
�" �
�

, ���������


� 10 �� ������. (���� ���#
� ��
�
��, � ������ ����% ����
����

�������#� �
#����, 
����"����� ���
��� �
�
� � ���
� *
���. 4�� ��-

����
�� �������" ��
�
���"�� ��
��
���� ����� �� �����, ��� �����-

�
�� ������
�" ��������
� ��
 ��������&�% �'��'��
�. B������ ���-

��%���
! �� ����� '��� ���" ���"*� 1 ��, ��� ������
�� ��'�����"

���
��"
� ���
���� ����� ����� �� �����. 

��#���
� �� ����� 
�
�
�������" � ����&"� ��*
��, � 
������

�������
���"�� '�� ������� ����
. ��� 
�+��#� ��*
� '�� ��
�����

15 
#. 

� ����&"� ���!+��#� �
��� ��������
�����" ������������&��

���!+��
� �����. (���� ���#� �
������! ��������% ��
��� 
 ���
���-

�! �
����
����. ���
���
 � �����% �����, � ����� ��'���!�
 �� ����-

�� ��*
�. 8�
�
���"��% ��� ��+�� ������
 6 ��*
�� – ��
����� 90 


#. �� 
�+��� ����� �

�
�������" 40 ��
��� ����
������% ��'���. 

���!+��
� 
������
�������" �
����"�� �� �
���������. ,��
-

�
! � �����% �����% 
 '�� '��
 ������
���"��. ����� ���'������"

���
�����
 �#��+
���
� ���������� ������. 

,��
� 
� ����
�
���� ������� ����������
���
�% �
�"����



��+�� '��" ����� ��
��"��% �����
�
���

. ���" ���#� ������ �����
�

� 
����"�����

 �
��"�!&
� ��
��"��-��������
���

� ������%. ��!

�'�������
! ��
�
���"��#� 
������� �#��+
���
! ���'����! �������
�"

���!��
 ��
��"����
 
 ��'���" ��
��"��-��������
���
�� �����".  

� 
������� ��
��"��� ������% ������#����! 
����"�����" �
-

��%��� 
 
������
���� �����
�
���

:  

 y(t) = c1 + c2 t ; (1) 

 y(t) = d1 + d2 t + d3 t2; (2) 

#��  
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; (4) 

∆t – ����! 
��������
!. 

�
����� �������
% (5)–(6) !��!���! �����"����� ��
�����
! ��-
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���� ��
���"*
� 
��������. � ���
�
� �� ���#
� ������� ���
�
%, ��

���'��� '��"*�#� 
��
������ ���
����
%. 

  wj = (t1)
j–1

 + (t2)
j–1

 + … (tN)
j–1

   (5) 

 bj = (t1 x1)j–1 + (t2 x1)
j–1

 + … + (tN xN)
j–1

  (6) 

tk = [0 ∆t 2∆t … (N – 2)∆t (N – 1)∆t]   (7) 

��! ����
�����
! �������#� ������
! yi ��+�� '��" 
����"��-

���� ��'�� ������
� t = tS � �
������� �����
�
���

 [0 (N – 1)∆t]. �
���
�
����
 �� ���
�
�� N 
 ���'������
 *���� tk 
���� ���� ���
-

���"��� ������
�. (���������� 
���������
! ��
����
, ���

yi(ts) – ys (8) 


���� ����'��
���
�� ���
�
����", �
�
��� 
�����% �����
��! �

�����% �����
�� �
������� �����
�
���

, #�� yS – 
��
���� ������
�

���������. 

�����

 ������� �����
�
�
�����
�" 
������
���� �������
��

� ���
�� ��'�����#� �
��. ,��
���"��! *
�
�� �
�� ��'
�����" ��-



� �'�����, ���'� �
�� �� �����*��� ��
�� �
�
���"��#� ����� 
�


���)��� �����
�� 
������
! �������#� �
#����.  

������ (�
���

 1–3) #���

�� ��
������� ���������� ������-

�� ����� �����%���
! (������% ����) �� ����� 
 �����"��� �#��+
���
!

� ����&"� ��'�������#� ��#��
��� � �
�����
� �����
��� '��"'� �

�������
 (������%) 
 '�� (�����%). 
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������� 1 – ������%�#� ���*���# ��� ����� +�& ��=��" � ��� ���� ���$)���$: �) 
�=700�(�, +) �=500�(�
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������� 2 –  ������%�#� ���*���# ��� ����� � �%��� ��=��� � ��� ����
���$)���$: �) �=700�(�, +) �=500�(�
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������� 3 –  ������%�#� ���*���# ��� ����� � %"��$ ��=���� � ��� ����
���$)���$: �) �=700�(�, +) �=500�(�

������� �����
�" ���
�
! � ���������� ��������� ��
 �����%

����� 
 �- ��������&�� ��#���

. ��
�� �
�
�#� ���!+��
! ����� ��-

'�����
�" ��
���"��� ���������� �������� 
 
����������

 
���-

'��
% �� ���+��#� ���
����%���
! #����, ����� 
 ������#� �����
���. 

4�� 
 �')!��!�� ��������
� �
��%��% ���
�
����
 ������� �� ����

�
������� ��#����
. B������ (���
��) �������!���" �� ���������� 
�-

������� ��+�� ��
�
����� 
 ��������&
� �
�
�����. 

$����! 
� ���#� ���#� ��+�� ������" �����, ��� 
������
� ���-

���� �����
� �����
���� �� 
����%����% ����� � ����&"� �� 
���'�-

�
% �����+��.  �
+� ��+�� �����
�", ��� 
����"�����
� ��
��"��%

����'��
���
�% �����
�
���

 ������!�� ��&�������� ����*
�"

�#��+
���
�. 2����'������! �����

� ��������
�� ���
 ����+
���"-

��� ������� 
 ������
�� ��*��" �������, 
������ '��
 ����������

����� �
����
������"��% �������
�%.  

��� 536.27:519.868 

����. �. ,. (��
��, �. 6. ����&��
�

����. ��
. ���. F. (. 	�������
(
������ 
�������
����� 
 ������!�&
� �
����, ���$ ) 

�9������	���
����;
�/�3��9
��
�
����.�
22�/� ���� «�
�/��� �9
��52�0�

�
�
�2
2�	 � �
�/���
 �9
��52�0� ��
7
2�	» 

9�	 �
�
3 1�����
2�	

(������� ��#���� 
 ����+���
! ����
���� ���� � ������'���-

�

�� �
�� «���
��� 
����"��#� ��������
! � ���
���� 
����"��#�

���*��
!» *
��
� 
����"�����! � ����
���� �'����!�. � ��

� �')-

�
��� �����!��! 
�+������'��� 
 �����

���� ������'����


, 
�-

���"��� �������

, 
����%����� ���
 
 �. �. 


